LABJNDu4 standard lightnessl*
I* Ync YW nc_loox

1*1 aganpua =[IN[A 1n+A2nY)I/(A 20A0n)] (Yn/100<Y<=Y,c)
I \(3,6)=146/* ,(18)=332,*  (90)=517

* =49, 1% =

I*o=517,21, A1,
I*1g=332,22
I3 =146,11 1%,

aYn=36 ¥ Yy=90

LABJINDu4
tristimulus value difference
Yoc=Yw - nc=100,
I* L ABINDU4=[IN[(A 17+ A2nY)V(A 2nA0n)] (Yn/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn A=1,0, see CIE 230:2019
d¥95=0,79, Ay=1,500, =0,42
dY;=0.16. A =0.007, Agn 0,0058 , ¢
dY3,6=0,04 Y,=18, dY=0,1 -
* ;=332 dY,=0,16 dY,/Y,=0, 0092 /
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1 application
1 range
'y,=18

Yy =90

Yn=3.6

log (AY/Y) LABJINDu4
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

1% aganpua =[IN[A 1n+A2 V(A 20A0n)] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

(dY/Y}5=0,0088, Ay=1
(dY/Y,+=0,0092, A =0 ,AZ
(dY/Y} 50,0116 Y,= 13 dY=0,16
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log(leY)=—2 03 W\J:: = %zl)phcation

4=332 dY,=0,16 dY,/Y,, o oo92- nge
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1Y,=18

Yw=90

Yn=3.6

LABJNDu4
tristimulus value contrast
Yoc=Yw =

e=100,
%1 aganDua =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=113,39, A=1,500, ¢=0,42
(Y/dY)g=107,58, A=0,007, A,=0,0058
(YIdY} 85,65 ¥,218, d=0.16

log (Y/AY)
C,=(Y/AY)

application
range

1 Yyy=90

LABJINDu4 relative standard lightnessl*/I*

(il
Yoc=Yw nc=100,

.
%L aganbua =[IN[A 17+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
1 \(3,6)=146* ,(18)=332.* y(90)=517

I* gofl* 1,55, Apy=1,500, =0,42
I*1¢/1* =1,00, A =0,007, A,=0,0058
I*3,¢/1*,=0,43,1¥,=332,22 =18

log[i* /I* ]=0, m,=0,33

L* =49, I* =332
application
range

Y,=18
Yy=90

'[™v\=36

LABJNDuA4 relative
tristimulus value difference
Yoc=Yw - nc=100,
1* L aBaNDu4 =[IN[(A 10+A2nY)I(A 20A0n)] (Ynd/100<Y<=Yc)
dY/dY,=AgnA 11+AanY1/dY,

dYg/dY,=4,74, Ayy=1,500, ¢

Y, g/dY,= 0,007, Az :o,oo
dY3 JdY,=0,25 Y,~18, dY=0,16

log(A Y/AY W)
AYIAY,

application
range

1v,=18
Y=90

Y236
log [(AY/Y) I (AYIY)] LABJINDu4 relative
_ tistimulus value sensitivity
SSu=OYMIBYNy . =y, =100,
1* L ABaNDu4 =[IN[(A 10t A2RY)I(A 20A0n)] (Ynd/100<Y<=Yc)
@AYIYYAYIY = (A Ao Y)Y (YIY),]

(dY/Y3(dY/Y)=0,94, Ay=1,500, ¢=0,42
(dY/Y)g\Y/Y)=1,00, A =0,007, A, =0,0058
(dY/Y (. Y)=1,25 Y,=18, dY=0,16

log[(dY/Y(dY/Y),]=0, m=-0,06 1

I+, =332 dY,=0,16 dY,/Y,=0,0002}

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu4 relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2y 2100

nc=100,

%L aganDua =[IN[A 17+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,()

(YIAYY(YIAY ) =(YIYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,05, Ay=1,500, ¢=0,42
(Y/dY%al(Y/dY =0,007, &RZGO,OOSS

=1,00, Ay
(Y/dY} ¢/(Y/dY}=0,79 Y,=18, dY=0

logl(Y/dYY(Y/dY)J=0, m=0,06 _
*,=332 dY,=0,16 Y./, —107

application
range

Y,=18
Yw=90

YN=3.6




